WS 10 Answer Key Algebra more practice




Answer Key
Directions:

Show all work on a separate piece of paper.  Place your final answer on this sheet.  
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 b.  Solve algebraically for exact 
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2.  Simply the difference quotient for the following functions  [different quotient 
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3.  Simplify the following completely with a common denominator.  Your final answer will not contain any negative exponents. 
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4.  Solve algebraically for the exact solution(s).  Solve for the indicated variable.  Assume all other variables are constants.
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5.  Determine if each statement is Correct or Incorrect.  Circle the correct answer.  

   I   
[image: image127.wmf]11

121

2

+

=

+

x

x




  I   
[image: image128.wmf]2

 

4

±

=




C     
[image: image129.wmf]9

3

3

3

3

+

=

+

x

x



C    
[image: image130.wmf]2

1

1

2

1

=

+

+

w

w

   for 
[image: image131.wmf]1

-

¹

w


 

C     
[image: image132.wmf](

)

y

x

e

e

y

x

+

=

ln



C     
[image: image133.wmf]5

5

)

ln(

xe

e

x

=

+


  I   
[image: image134.wmf])

ln(

)

ln(

)

ln(

)

ln(

B

M

B

M

=

-

 


C     
[image: image135.wmf](

)

(

)

a

a

ln

2

1

ln

=



  I   
[image: image136.wmf]y

x

y

x

2

2

2

+

=

+



  I   
[image: image137.wmf](

)

(

)

ab

t

ab

t

log

log

=




  I   
[image: image138.wmf](

)

y

x

e

e

y

x

+

=

+

ln


  I   
[image: image139.wmf]4

64

3

3

-

=

-

r

r


 I   
[image: image140.wmf]2

1

2

2

x

x

x

=

+

-

 



  I   
[image: image141.wmf]1

3

1

3

2

2

+

=

+

+

x

x

x

x


  I   
[image: image142.wmf]9

3

2

e

e

=

-



C   
[image: image143.wmf](

)

(

)

3

3

2

4

1

2

8

+

=

+

t

t




C     
[image: image144.wmf](

)

x

x

e

e

2

2

=



C   
[image: image145.wmf]x

x

-

-

=

-

4

1

4

1


C   
[image: image146.wmf](

)

(

)

(

)

(

)

3

1

1

2

1

2

+

+

=

+

+

+

x

x

x

x



  I   
[image: image147.wmf](

)

4

4

3

3

1

-

=

t

t



  I   
[image: image148.wmf]e

=

)

1

ln(


C    
[image: image149.wmf](

)

(

)

3

2

3

2

8

8

1

-

-

=

-

z

z




C    
[image: image150.wmf]b

a

ab

b

a

+

=

+

-

-

1

1

1



  I   
[image: image151.wmf])

2

ln(

2

t

t

=


  I   
[image: image152.wmf]2

1

1

2

1

+

=

+

x

x





C     
[image: image153.wmf])

ln(

)

ln(

)

log(

)

log(

t

x

t

x

=



  I   
[image: image154.wmf]B

Ax

x

B

Ax

+

=

+

2


  I   
[image: image155.wmf])

log(

)

log(

)

log(

y

x

y

x

=

+



  I   
[image: image156.wmf]x

e

x

4

)

ln(

4

=

 

  I   
[image: image157.wmf](

)

3

3

1

1

y

y

+

=

+




  I   If 
[image: image158.wmf]x

x

f

5

)

(

=

, then 
[image: image159.wmf](

)

4

5

4

+

=

+

x

x

f







_1256412186.unknown

_1256507546.unknown

_1256631821.unknown

_1256632158.unknown

_1256645776.unknown

_1256646636.unknown

_1256734631.unknown

_1256734653.unknown

_1256734668.unknown

_1256646662.unknown

_1256646429.unknown

_1256646449.unknown

_1256645890.unknown

_1256645940.unknown

_1256645963.unknown

_1256645917.unknown

_1256645849.unknown

_1256645657.unknown

_1256645735.unknown

_1256645754.unknown

_1256645695.unknown

_1256632215.unknown

_1256645578.unknown

_1256632180.unknown

_1256631934.unknown

_1256632012.unknown

_1256632091.unknown

_1256631956.unknown

_1256631897.unknown

_1256631915.unknown

_1256631865.unknown

_1256631335.unknown

_1256631453.unknown

_1256631761.unknown

_1256631776.unknown

_1256631543.unknown

_1256631407.unknown

_1256631429.unknown

_1256631386.unknown

_1256534347.unknown

_1256631208.unknown

_1256631323.unknown

_1256631163.unknown

_1256507990.unknown

_1256508105.unknown

_1256507668.unknown

_1256506945.unknown

_1256507331.unknown

_1256507476.unknown

_1256507505.unknown

_1256507419.unknown

_1256507133.unknown

_1256507199.unknown

_1256507116.unknown

_1256506744.unknown

_1256506871.unknown

_1256506879.unknown

_1256506806.unknown

_1256506341.unknown

_1256506439.unknown

_1256412306.unknown

_1256416228.unknown

_1256506217.unknown

_1256412824.unknown

_1256412292.unknown

_1256386702.unknown

_1256392264.unknown

_1256392962.unknown

_1256399115.unknown

_1256411153.unknown

_1256411470.unknown

_1256411923.unknown

_1256411289.unknown

_1256407263.unknown

_1256411116.unknown

_1256399345.unknown

_1256393571.unknown

_1256398678.unknown

_1256398893.unknown

_1256398713.unknown

_1256393698.unknown

_1256393054.unknown

_1256393257.unknown

_1256393296.unknown

_1256393172.unknown

_1256393200.unknown

_1256393075.unknown

_1256393008.unknown

_1256392621.unknown

_1256392827.unknown

_1256392899.unknown

_1256392740.unknown

_1256392761.unknown

_1256392653.unknown

_1256392352.unknown

_1256392540.unknown

_1256392576.unknown

_1256392456.unknown

_1256392487.unknown

_1256392409.unknown

_1256392320.unknown

_1256391491.unknown

_1256391667.unknown

_1256391889.unknown

_1256392042.unknown

_1256392201.unknown

_1256392232.unknown

_1256392137.unknown

_1256391955.unknown

_1256391904.unknown

_1256391795.unknown

_1256391860.unknown

_1256391747.unknown

_1256391768.unknown

_1256391695.unknown

_1256391567.unknown

_1256391637.unknown

_1256391596.unknown

_1256391520.unknown

_1256391100.unknown

_1256391255.unknown

_1256391412.unknown

_1256391173.unknown

_1256390846.unknown

_1256390887.unknown

_1256386763.unknown

_1256386792.unknown

_1256390657.unknown

_1256386717.unknown

_1256123531.unknown

_1256386497.unknown

_1256386621.unknown

_1256386669.unknown

_1256386694.unknown

_1256386633.unknown

_1256386594.unknown

_1256386605.unknown

_1256386553.unknown

_1256123721.unknown

_1256386120.unknown

_1256386186.unknown

_1256386297.unknown

_1256386345.unknown

_1256386265.unknown

_1256386159.unknown

_1256123893.unknown

_1256123838.unknown

_1256123653.unknown

_1256123698.unknown

_1256123566.unknown

_1256123226.unknown

_1256123321.unknown

_1256123474.unknown

_1256123249.unknown

_1256123172.unknown

